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Group (AB)
= Phoenix Ching Ting YCKS C 1 Z1E % EER
=i 25 20 25 15 25 16
20 25 25 16 25 16 8 1
15 11
2 1 2 0 2 0
Phoenix 20 25 25 13 25 17
25 20 25 17 25 27 5 2
11 15 12 15
1 2 2 0 1 2
Ching Ting 15 25 13 25 25 23
16 25 17 25 18 25 2 4
16 14
0 2 0 2 2 1
YCKS 16 25 17 25 23 25
16 25 27 25 25 18 3 3
15 12 14 16
0 2 2 1 1 2
Group (CD)
T GG Tetris Pleasant CHE Z 18 T EEN
T 25 11 18 25 25 20
25 22 23 25 25 20 6 2
2 0 0 2 2 0
GG 11 25 15 25 22 25
22 25 15 25 17 25 0 4
0 2 0 2 0 2
Tetris 25 18 25 15 25 23
25 23 25 15 25 14
9 1
2 0 2 0 2 0
Pleasant 20 25 25 22 23 25
20 25 25 17 14 25 3 3
0 2 2 0 0 2




